Parts List .«..x:

B 1N FL 4

Model: LBC263UT-DX 1X5=YYZba—F 524480






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R D HiHE R E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23ERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XXBRBERTLTHYET . COXXKITAFTAIM—D
ELORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeoeesesseessssessessseessesseseeeeeeeseeeeee e 1~2
Iy (EE261/21)
IRy M2 Ry el QRN Y2 3~6
R B 1V B 2N 7~8
R AV T /3 =% 5y A 9~ 10

LR D =17 TSSO 11 ~12



1. LBC263UT-DX
X K




RHEES | HaES B & 1 &% &
1-1 364687 | LBC263UT-DX 1
1-2 817002 | 6 h4H Wb (+)WSW 4 | M5X20
1-3 096042 | 6 H9H Wb (+)WSW 1 | M5X30
1-4 233768 | 47VF—AH34T 1 |5~9744
1-5 221474 | 959Fh—2A 1
1-6 016405 | ATYYY" 1 | #6200ZZ
1-7 013825 | C h'4ki7 1 | #30
1-8 233769 | #7VFFFLVIH 1 | 54XSP
1-9 014210 | Ch'4kin 1 | S10
1-10 226792 | TUNIVY 1
1-11 239656 | K IYUN 4hUIbA 1
1-12 215532 | five4=%") 1
1-13 054691 | YUhT7 9347 1 [ 14794
1-14 089738 | 6 Ay ILb 1 | M5X15
1-15 228446 | nUNIWMNYTRTY )34T 1 |16 794
1-16 092561 | 6 hY& Wb (+)SW 6 | M5X25
1-17 228089 | ¥ ¥h—RY34T 1 [ 18 ~ 24744
1-18 234247 | 6 hOf Wb 1 | M8X8
1-19 092550 | 6 HYEK Lk (+)SW 1 | M5X25-7T
1-20 212986 | NE/KRA 1
1-21 219195 | nE/K'AB 1
1-22 215610 | 6 h4H Wb WSW 1 | M8X22 t47)
1-23 222128 | ¥¥IF R IUNY 1
1-24 222129 | 4YEVRY 1 | 5X20
1-25 089737 | 6 ol b 1 | M5X12
1-26 220549 | F194v-) 1
1-27 239668 | #—L7°L—b 1 | LBC263UT-DX
1-28 231654 | NJv=4 1 | ECO
1-29 239693 | NJv—4 1T ¥y
1-30 236357 | nUNIL A TR 1 | E4Y
1-31 236358 | nUMIL B ThA 1| 3%
1-32 236356 | MJATLN =934T (19) 1 | 860L
1-33 236111 | 3~ 1 |39 -F4v=)
1-34 235749 | ARYRMLDAY 1 |810LI/O 78
1-35 234549 | VG —bF1-7 1 | 660L
1-36 220533 | BARTNUNH3ET 1
1-37 234761 | ¥ A9AVHAN-H34T 1 |38~ 40744
1-38 210413 | A% Ihty 1
1-39 210313 | AN =Vr95hty 1
1-40 092555 | 6 H9H Wb (+)SW 2 | M6X30
1-41 227510 | ¥Y7°Y—10 1




2.L.BC263UT-DX
Do09r—R, V)

ABR|AZE|AEE




RHEES | HaES B & & &% &
2-1 875076 | IYYY 1 | EE261/21
2-2 273153 | VU4 1

2-3 282330 | I AHTYH 1

2-4 261250 | 6 H97 Y%K ILF WSW 4 | M5X20
2-5 282579 | 41u¥1L—4 1

2-6 267049 | B AHYE 1

2-7 269826 | TAIRY ()WSW 2 | M5X25WSW
2-8 276844 | 3757tV77Y 1

2-9 266402 | A%Y1 2 | M5X55
2-10 273147 | ' A9 1

-11 273618 | 74 —hn'— 1

-12 269827 | TAIRY (+)WSW 1 | M5X16
- 275553 | M7hN— 1

- 563151 | A%Y1 1 | M6X15
- 261878 | TYh 1

2-1 280144 | 4YEV3Y (+) 1 | 4X16
2-1 273673 | H73U9h—-2 1

2-1 280488 | ATV 2 | PPL 6001
2-1 261492 | #ANY—=I 1 | ISCD12287
2-2 261386 | #4LY—IL 1 | ISCD12227
2-21 055185 | C h'4kiD 1 | H28
2-22 261612 | 6 W97 Y%K L+ WSW 3 | M5X30
2-23 273155 | E'AbY 1

2-24 261496 | E'AbYVY 2

2-25 261497 | E'AMEY 1

2-26 261037 | ==FAATYLY 1

2-27 261576 | =497’ 2

2-28 282323 | 47V9%7h3av 77—+ 1

2-29 269168 | #7VYF7tV7) 1 130317494
2-30 269169 | 479FY1 2

2-31 269173 | A7 vy 1

2-32 269647 | H3VFK Wb 2

2-33 269175 | 79v¥ 2 | 6.1X15X1.6
2-34 261777 | 9I-7"79v% 2

2-35 283386 | 77UhN— 1

2-36 269831 | 7AIRY (+)WSW 4 | M5X20WSW
2-37 282692 | ¥ AT EVT) 1 |38~ 44744
2-38 261356 | A—4% 1

2-39 282693 | 19 Z9Y3AVAMNTEYT) 1 |40 ~ 44 744
2-40 267401 | 241 1

2-41 282694 | 1-FT7tY7) 1 |42~ 44754
2-42 261074 | 7°39°%%vv7’ 1

2-43 261075 | 794 1

2-44 282695 | 1—-F 1

2-45 261076 | nur - 1




2.L.BC263UT-DX
Do09r—R, V)

ABR|AZE|AEE




REES | HRES B A B W B i

2-46 261417 | 459" 029+ FYb 1 | M8

2-47 280381 | AN —¥ 2

2-48 261256 | 6 W97 Y%K ILF WSW 2 | M4Xx25

2-49 286739 | AN=97'3Y° 1 | CJBY

2-50 267492 | )-F 1

2-51 282880 | - 1

2-52 264588 | 457" 1

2-53 278581 | 3A°1 1T [ WAV (FY)
2-54 269705 | A IR VYR EYWE Y
2-55 274191 | 381 1 | 3I94vFa4




3.LBC263UT-DX I oY
JaAIILRA—A

14




RHEES | HaES B & 1 &% &
3-1 282404 | VAW ARI-4T LT 1 [2~117494
3-2 282405 | A4—47t77) 1 |3~107494
3-3 283411 | )=l 1

3-4 283412 | hh7'L—b 1

3-5 280930 | 4'uN-R7Y 1

3-6 280931 | ANATNAT YUY 1

3-7 267213 | YRS 1

3-8 280932 | -7 7tVU7Y) 1 19710744
3-9 280933 | A4—40-7° 1

3-10 267219 | R4—4)7 1

3-11 280934 | 7 -7tU7Y) 1

3- 280489 | A1y (+)WSW 2 | M4X20

3- 269833 | 7TAIRY (+)WSW 1 | M4X16WSW
3-1 278517 | a4~ 1 | LBC263UT-DX




4.LBC263UT-DX T v
FrILA, BEELY




RHEES | HaES B & 1 &% & =
4-1 273708 | ¥¥7°L47€V7Y 1 [2~15744
4-2 281597 | KV7K'T4 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 283905 | #4%77L4 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4Y774 1
4-9 282576 | H'AHYb 1
4-10 285030 | ¥'IYh 1
4-11 261871 | O Yuy’ 1
4- 261876 | vy 1
4- 261658 | A4A')L 1
4- 264682 | %Y1 2
4- 262996 | A%Y)1 4
4-1 261864 | H'AHYh 1
41 289048 | T—AT7tV7) 1 |18 ~ 24791
41 269050 | H—AK'T4 1
4-1 289019 | nN'ILT 1
4-2 284803 | Lin'— 1
4-21 284816 | 79y¥ 1 | 6.4X11X0.15
4-22 269032 | A%Y1 1
4-23 126993 | 6 HH Tk 1 | M5
4-24 269051 | RY)=7" 2
4-25 269030 | ILAVH 1
4-26 281777 | A1y ()WSW 2 | M5X55WSW-7T
4-27 269027 | Y—Thn'— 1
4-28 269031 | A%Y1 1 | M5X12
4-29 273735 | 4uHTH077Y 1 |30 ~ 40744
4-30 273467 | 71-ILAVY 1
4-31 275306 | 4v9%YV7T7EV7) 1 327494
4-32 274875 | NYEY 1
4-33 261696 | 749347 1
4-34 265752 | #UVAINATTEUT) 1 |35~ 40744
4-35 264031 | N{7h34T 1 |36~ 38744
4-36 261115 | 40 Yb 1
4-37 261690 | #YYAINAT’ 1 | 160L
4-38 263038 | A—n70-N47 1
4-39 264653 | 74METEVTY) 1
4-40 261117 | 4y97° 1
4-41 269828 | FAIRY ()W 2 | M5X16W
4-42 281208 | A IRY (HW 1 | M5X16W A4
4-43 284586 | 3NN 1 [ FA-) 989 =907y

-10-




5. LBC263UT-DX
ft & fm

-11-



RHEES | BRES =1 71 &%k fis e
5-1 221460 | K3 Ah'% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE'FYHAANT 1
5-4 022865 | AT FANT 1 | 8X10
5-5 219431 | 6 WK IANT 1 | ZAUnn 3
5-6 239664 | M)7UHMEYAM3 1 | LBC263/323UT-DX

-12-




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

EIEREET Printed in japan 2017-03.J




